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- 18+6 H. 12
5— (—4) H. I3
6+ (—13) H. | 4
2%x (=4) +3 H. I5
(—-6) +2+5 H. 16
(=2) x (=3) +6 H. |7
10+ (=2) +3 H. 18
4x (—=5) —3 H. 19
g9+3x%x (—4) H. 20
(=2) X342 H. 2 |
6+ (—8) =4 H. 22

(RTHA)
3x (=2) —4 H. 22

€ 3:)
(-9) =3-4 H. 23

(ATHA)

7-2x% (=3)

(=3) X4-2

(-8) +2—1

7+ (-2) X3

(-5) Xx2+49

6+ (—=2) +1

7+5% (=3)

(-3) x2+8

(=12) +3-2

8+ (—-2) +3

(=2) X3+4

(—=8) +2+6

6+ (—2) x4
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H. 23 4+ (—8) +4 H. 23 6x—x

(1&89) (RTHER)

H. 24 4x (=3) +7 H. 23 l0a=+ (=5)
(1£80)

H. 25 9+6+ (—3) H. 24 8y—2y

H. 26 12+ (=2) + 1 H. 25 7x+x

H. 27 54+3% (=2) H. 26 9a0—5a

H. 28 5+ (= 14) +7 H. 27 8x— 4x

H. 29 (=2) X4+ H. 28 6ax (—3)

H. 30 6—4+ (=2) H. 29 | Ox— 7x

H. 31 (=8) = (=4) — 1 H. 30 Lx+x

R. 2 (=5) x (=2) +3 H. 3| —-2a+5a

R. 3 -3+ (=4) X5 R. 2 7x—5x

H. 22 50—2a R. 3 4x—9x

(RTEA)

H. 22 3xx (=2)



